

GAJAS PUTIH SDN BHD 1043157-U



GP GROUP HQ NO.9, LORONG BERINGIN 2, TAMAN INDUSTRI BERINGIN, 14100 SIMPANG AMPAT, PENANG, MALAYSIA Email: **dino@gajasputih.com** Tel: +604 502 1290 Website: **www.gpgroup.my**

Company / Organization Contact Person Contact No : GALAXY AEROSPACE (M) SDN BHD : MR. IRFAN :

QUOTATION FOR EXTERIOR PLACARDS

QUOTATION

Date: 26/07/2024 Quote Number: GP/Q2024338

9M-PMA (31807)

ITEM	PART NUMBER	MATERIAL	QTY (EA)	UNIT PRICE (MYR)	TOTAL PRICE (MYR)
1	ED047002-063	3M 6900 LUMINOUS FILM	4	87.00	348.00
2	ED047002-061	3M 6900 LUMINOUS FILM	32	60.00	1,920.00
3	ED047002-062	3M 6900 LUMINOUS FILM	4	60.00	240.00
4	ED047002-070	3M 6900 LUMINOUS FILM	2	73.00	146.00
5	ED047002-067	3M 6900 LUMINOUS FILM	4	61.00	244.00
6	ED047002-001	3M A7706	2	60.00	120.00
7	ED047002-002	3M A7706	4	60.00	240.00

9M-PMD (31809)

ITEM	PART NUMBER	MATERIAL	QTY (EA)	UNIT PRICE (MYR)	TOTAL PRICE (MYR)
1	ED047002-063	3M 6900 LUMINOUS FILM	4	87.00	348.00
2	ED047002-061	3M 6900 LUMINOUS FILM	32	60.00	1,920.00
3	ED047002-062	3M 6900 LUMINOUS FILM	4	60.00	240.00
4	ED047002-070	3M 6900 LUMINOUS FILM	2	73.00	146.00
5	ED047002-067	3M 6900 LUMINOUS FILM	4	61.00	244.00
6	ED047002-001	3M A7706	2	60.00	120.00
7	ED047002-002	3M A7706	4	60.00	240.00



GAJAS PUTIH SDN BHD 1043157-U



GP GROUP HQ NO.9, LORONG BERINGIN 2, TAMAN INDUSTRI BERINGIN, 14100 SIMPANG AMPAT, PENANG, MALAYSIA Email: **dino@gajasputih.com** Tel: +604 502 1290 Website: **www.gpgroup.my**

Company / Organization Contact Person Contact No : GALAXY AEROSPACE (M) SDN BHD : MR. IRFAN :

QUOTATION

Date: 26/07/2024 Quote Number: GP/Q2024338

9M-PME (31855)

ITEM	PART NUMBER	MATERIAL	QTY (EA)	UNIT PRICE (MYR)	TOTAL PRICE (MYR)
1	ED047002-063	3M 6900 LUMINOUS FILM	4	87.00	348.00
2	ED047002-061	3M 6900 LUMINOUS FILM	32	60.00	1,920.00
3	ED047002-062	3M 6900 LUMINOUS FILM	4	60.00	240.00
4	ED047002-070	3M 6900 LUMINOUS FILM	2	73.00	146.00
5	ED047002-067	3M 6900 LUMINOUS FILM	4	61.00	244.00
6	ED047002-001	3M A7706	2	60.00	120.00
7	ED047002-002	3M A7706	4	60.00	240.00

9M-PMF (31913)

ITEM	PART NUMBER	MATERIAL	QTY (EA)	UNIT PRICE (MYR)	TOTAL PRICE (MYR)
1	ED047002-063	3M 6900 LUMINOUS FILM	4	87.00	348.00
2	ED047002-061	3M 6900 LUMINOUS FILM	32	60.00	1,920.00
3	ED047002-062	3M 6900 LUMINOUS FILM	4	60.00	240.00
4	ED047002-070	3M 6900 LUMINOUS FILM	2	73.00	146.00
5	ED047002-067	3M 6900 LUMINOUS FILM	4	61.00	244.00
6	ED047002-001	3M A7706	2	60.00	120.00
7	ED047002-002	3M A7706	4	60.00	240.00
8	ED047002-023	3M A7706	1	40.00	40.00
	TOTAL AMOUNT (MYR)			13,072.00	



GAJAS PUTIH SDN BHD 1043157-U



GP GROUP HQ NO.9, LORONG BERINGIN 2, TAMAN INDUSTRI BERINGIN, 14100 SIMPANG AMPAT, PENANG, MALAYSIA Email: **dino@gajasputih.com** Tel: +604 502 1290 Website: **www.gpgroup.my**

Company / Organization Contact Person Contact No

2

: GALAXY AEROSPACE (M) SDN BHD : MR. IRFAN

QUOTATION Date: 26/07/2024

Date: 26/07/2024 Quote Number: GP/Q2024338

Lead time: 3 – 5 working days Validity of the offer: 30 days only Payment term: 30 days only

Hope this suits your requirements, and should you have any further questions please do not hesitate to contact us.

Kind Regards,

D1100 Mobile : +60124521290 Website : www.gp-aviation.com



GAJAS PUTIH SDN BHD



GP GROUP HQ

NO.9, LORONG BERINGIN 2, TAMAN INDUSTRI BERINGIN, 14100 SIMPANG AMPAT, PENANG, MALAYSIA Email: **dino@gajasputih.com** Tel: +604 502 1290 Website: **www.gpgroup.my**

Company / Organization Contact Person Contact No : GALAXY AEROSPACE (M) SDN BHD : MR. IRFAN

Terms and Conditions

QUOTATION

Date: 26/07/2024 Quote Number: GP/Q2024338

1. Complaints

All complaints must be received in writing within 7 days past the completion of the work. After this time, Gajas Putih Sdn.Bhd. cannot be liable for eventual changes from then on appropriate charges may apply.

Gajas Putih Sdn.Bhd. will strive to resolve all complaints promptly and efficiently. We make every effort possible to ensure all problems are resolved and mistakes corrected. In the event where the vinyl is damaged due to no fault of our own (mechanical damage, etc), the client obliges to pay the costs of the correction. We will not take responsibility for any damage resulting from the workmanship or application of the vinyl.

We cannot accept responsibility for consequential damages or loss of any kind resulting from the sale, installation, or delivery of our products.

2. Artwork

Where artwork is supplied by the client, it is the responsibility of the client to ensure the artwork is "print ready". With instructions regarding scale provided. It is the responsibility of the designer to check the dimensions and layout

Where Gajas Putih Sdn.Bhd. provides the artwork, it is essential the client fully checks the final proof. All proof and designs are copyright and the intellectual property of

Gajas Putih Sdn.Bhd. and does not pass with the purchase of any items designed or produced by Gajas Putih Sdn.Bhd.

3. Manufacture

Colours

Due to the limitations and the sensitivity of the various substrates, it is impossible to reproduce all colours accurately. Therefore, in the absence of a representative from your company to select the appropriate colour sample, reproduction will be at our discretion. If possible, include pantone references or CMYK colour values.

Graphics:

We cannot be responsible for damage to paintwork when the vinyl is removed, and would not advise application on a poor paintwork. Please note, our experience shows that removal of vinyl from good quality, factory original paintwork, will not damage the paintwork. However, it is the duty of the owner of the vehicles to ensure suitability.

Due to the fact that a two-dimensional print is being applied to a three-dimensional aircraft and due to the minor variances in the accuracy of the templates. The positioning of a vehicle graphics can vary from the proof by several cms throughout the entire length of a aircraft.

4. Payment

Credit terms are to be agreed with e_EXxisting customers prior to any work being started, but they will not be more than 30 days from date of invoice.

Should late payment occur, 2.5% per month, or part of month will be added to the original invoice.

All large order and new customers are required to pay a minimum of a 50% deposit with the order confirmation, prior to printing, with the balance to be paid prior to collection or delivery.

All deposits paid up front are non-refundable.

All goods remain the property of Gajas Putih Sdn.Bhd. until paid for in full.

5. Other terms

Gajas Putih Sdn.Bhd. cannot be held responsible for any damage caused through the workmanship or application of the vinyl products.

Risk of damage to or loss of the Goods shall pass to the Buyer In the event that the customer fails to make payment, the customer irrevocably authorises Gajas Putih Sdn.Bhd. to enter his premises, repossess and remove the goods supplied. In no circumstances, whatsoever shall Gajas Putih Sdn.Bhd.

be liable to the buyer, arising out of the supply of goods, exceed the invoice value of those goods.

By using gajasputih.com service, you are bound by these Terms and Conditions